



## Length Functions and HNN Groups

**Faisal H. Nesayef<sup>1\*</sup>**

<sup>1</sup>*Department of Mathematics, Faculty of Science, University of Kirkuk, Kirkuk, Iraq.*

### **Author's contribution**

*The sole author designed, analyzed and interpreted and prepared the manuscript.*

### **Article Information**

DOI: 10.9734/JSRR/2017/33282

#### Editor(s):

(1) Wei-Shih Du, National Kaohsiung Normal University, Taiwan.

#### Reviewers:

(1) Ismail Naci Cangul, Uludag University, Turkey.

(2) William Obeng-Denteh, Kwame Nkrumah University of Science and Technology, Ghana.

(3) Zehra Özdemir, Ankara University, Turkey.

Complete Peer review History: <http://www.sciencedomain.org/review-history/19210>

**Original Research Article**

**Received 7<sup>th</sup> April 2017**  
**Accepted 22<sup>th</sup> May 2017**  
**Published 26<sup>th</sup> May 2017**

### **ABSTRACT**

The concept of length functions on groups is first introduced by Lyndon. This is used to give direct proofs of many other results in combinatorial group theory. Two important sets called M and N satisfying some certain axioms of length functions are considered. Finally investigations of the nature and the structures of the sets M and N in relation to the elements of HNN group were carried out.

**Keywords:** *Archimedean elements; associated subgroups; conjugate elements; Coset representative; H. N. N extension; isomorphism; length functions; normal form; reduced word.*

### **1. INTRODUCTION**

In this paper we define a construction given by G. Higman, B. H. Neumann and H. Neumann in 1949. This construction is called HNN extension.

We define a length function on HNN extensions to get some further results concerning the

structure of HNN extensions, factor groups and some predefined important parts of this group. However, we formulate a normal form theorem for HNN extensions and consider reduced forms of the elements of this group in order to investigate the structure of this extension in details. The background of Length Functions is based on the issues raised in, [1-6].

\*Corresponding author: E-mail: [fnesayef@yahoo.com](mailto:fnesayef@yahoo.com), [fnesayef1@yahoo.com](mailto:fnesayef1@yahoo.com);

## 2. LENGTH FUNCTIONS

**2.1 Definition:** A length function  $| \cdot |$  on a group  $G$ , is a function giving each element  $x$  of  $G$  a real number  $|x|$ , such that for all  $x, y, z \in G$ , the following axioms are satisfied.

$A1'$   $|e| = 0$ ,  $e$  is the identity elements of  $G$ .

$A2$   $|x^{-1}| = |x|$

$A4$   $d(x, y) < d(y, z) \Rightarrow d(x, y) = d(x, z)$ ,

where  $d(x, y) = \frac{1}{2} (|x| + |y| - |xy^{-1}|)$

Lyndon in [1] showed that  $A4$  is equivalent to  $d(x, y) \geq \min\{d(y, z), d(x, z)\}$  and to

$d(y, z), d(x, z) \geq m \Rightarrow d(x, z) \geq m$ .

$A1'$ ,  $A2$  and  $A4$  imply that:  $|x| \geq d(x, y) = d(y, x) \geq 0$ .

Assuming,  $A2$  and  $A4$  only, it is easy to show that:

- i.  $d(x, y) \geq |e|$
- ii.  $|x| \geq |e|$
- iii.  $d(x, y) \leq |x| - \frac{1}{2}|e|$ , see [ 5 ]

The axiom  $A3$  states that:  $d(x, y) \geq 0$  is deducible from  $A1'$ ,  $A2$ . Also,  $A1'$  is a weaker version of the following axiom:  $A1$ :  $|x| = 0$  if and only if  $x = 1$  in  $G$ .

Lyndon [1] showed that if  $G$  is any group with length function and  $x, y$  and  $z$  are elements in  $G$ , then the following properties will hold.

**2.2 Proposition:**  $d(xy, y) + d(x, y^{-1}) = |y|$

**2.3 Proposition:**  $d(x, y^{-1}) + d(y, z^{-1}) \leq |y|$  implies that  $|x y z| \leq |x| - |y| + |z|$

**2.4 Proposition:**  $d(x, y^{-1}) + d(y, z^{-1}) \leq |y|$  implies that  $d(xy, z^{-1}) = d(y, z^{-1})$

**2.5 Proposition:**  $d(x, y) + d(x^{-1}, y^{-1}) \geq |x| = |y|$  implies that  $|(xy^{-1})^2| \leq |xy^{-1}|$

It follows from proposition 2.2 that for any  $x, y \in G$ ,  $d(x, y) = |y| - d(x y^{-1}, y^{-1}) \leq |y|$  by  $A3$ .

Since  $d(x, y) = d(y, x)$ , we get:  $d(x, y) \leq \min\{|x|, |y|\}$ .

$A5$  states that:  $d(x, y) + d(x^{-1}, y^{-1}) > |x| = |y| \Rightarrow x = y$

**2.6 Definition:** A non-trivial element  $g$  of a group  $G$  is called Non-Archimedean if  $|g^2| \leq |g|$

**2.7 Definition:** Let  $G$  be a group with length function. An element  $x \neq 1$  in  $G$  is called Archimedean if  $|x| \leq |x^2|$ .

The following Axioms and results have added by Lyndon and others

$A0$   $x \neq 1 \Rightarrow |x| < |x^2|$

$C0$   $d(x, y)$  is always an integer

$C1$   $x \neq 1, |x^2| \leq |x|$  implies  $|x|$  is odd.

$C2$  For no  $x$  is  $|x^2| = |x| + 1$

$C3$  if  $|x|$  is odd then  $|x^2| \geq |x|$

$C1'$  if  $|x|$  is even and  $|x| \neq 0$ , then  $|x^2| > |x|$

$N0$   $|x^2| \leq |x|$  implies  $x^2 = 1$  is  $x = x^{-1}$

$N1^*$   $G$  is general by  $\{x \in G : |x| \leq 1\}$

**2.8 Definition:** The set of all Non-Archimedean elements in  $G$  will be denoted by  $N$ , which is given by:  $N = \{x \in G : |x^2| \leq |x|\}$

Lyndon also introduced the following set in [1]:  $M = \{xy \in G : |xy| + |yx| < 2|x| = 2|y|\}$ , and showed that  $M \subseteq N$ . The nature of the elements of  $M$  and  $N$  is investigated in the next section.

### 3. HNN EXTENSION

We now introduce an important group constructed by G. Higman, B.H. Neumann and H. Neumann. The details of this construction are given in, [7], [8] and [9].

**3.1 Definition:** Let  $G$  be a group,  $I$  be an index set and  $\{A_i : i \in I\}$ ,  $\{B_i : i \in I\}$  be families of subgroups of  $G$  with a family  $\{\phi_i : i \in I\}$  of maps such that, each  $\phi_i : A_i \rightarrow B_i$  is an isomorphism. Then the H.N.N extension with base  $G_i$  and stable letters  $t_i$ ,  $i \in I$  and associated subgroups  $A_i$  and  $B_i$ ,  $i \in I$  is the group

$G^* = \langle G, t_i ; \text{rel } G, t_i^{-1} a_i t_i = \phi_i(a_i), a_i \in A_i \rangle$ , where  $\langle G, \text{rel } G \rangle$  is a presentation of  $G$ .

To formulate a normal form theorem for H.N.N extensions, we shall consider the following:

Any element of  $G^*$  is equal to a product  $g_0 t_{i_1}^{\varepsilon_1} g_1 \dots t_{i_n}^{\varepsilon_n} g_n, n \geq 0, \varepsilon_i = \pm 1$

**Note:** Throughout this section  $g_i$  will denote an element of  $G$ .

**3.2 Definition:** A sequence  $g_0 t_{i_1}^{\varepsilon_1} g_1 \dots t_{i_n}^{\varepsilon_n} g_n, n \geq 0, \varepsilon_i = \pm 1$  is said to be reduced if there is no consecutive subsequence  $t_i^{-1} g_i t_i$  with  $g_i \in A_i$ , or  $t_i g_i t_i^{-1}$  with  $g_i \in B_i$  if  $w$  is a word in  $G \cup \{t_i\} \cup \{t_i^{-1}\}$ . Then we can get  $t_i$  - reduction of  $w$  corresponding to the relations of  $G^*$  as follows:

- 1) Replace a sub word of the form  $t_i^{-1} g_i t_i$ , by  $\phi_i(g_i)$  whenever  $g_i \in A_i$
- 2) Replace a sub word of the form  $t_i g_i t_i^{-1}$ , by  $\phi_i(g_i)$  whenever  $g_i \in B_i$

By carrying out all possible  $t_i$  - reduction we get a reduced word defining the same element of  $G^*$ .

The products of the elements in two distinct reduced sequences may be equal in  $G^*$ . To get

normal forms, once again we consider the coset representatives as follows:

Choose for each  $i$  a set of representatives of the right cosets of  $A_i$  in  $G$  and a set of representatives of the right cosets of  $B_i$  in  $G$ . We shall assume that 1 is the representative of both cosets  $A_i$  and  $B_i$ .

**3.3 Definition:** Given the sets of right coset representatives of  $A_i$  and  $B_i$  in  $G$ , then a normal form in  $G^*$  is a sequence of the form  $g_0 t_{i_1}^{\varepsilon_1} g_1 \dots t_{i_n}^{\varepsilon_n} g_n, n \geq 0, \varepsilon_i = \pm 1$ , where

- i)  $g_0$  is an arbitrary element of  $G$ , except that  $g_0 \neq 1$  if  $n=0$
- ii) if  $\varepsilon_r = -1$  then  $g_r$  is a representative of a coset of  $A_{i_r}$  in  $G$
- iii) if  $\varepsilon_r = +1$  then  $g_r$  is a representative of a coset of  $B_{i_r}$  in  $G$  and
- iv) There is no subsequence  $t^\varepsilon 1 t^{-\varepsilon}$  where  $\varepsilon = \pm 1$ .

Because of the relations  $t_i^{-1} a_i t_i = \phi_i(a_i)$  of  $G^*$ , we can replace  $t_i^{-1} a_i$  by  $\phi_i(a_i) t_i^{-1}$  without changing the corresponding element of  $G$ . Similarly we can replace  $t_i b_i$  by  $\phi_i^{-1}(b_i) t_i^{-1}$ , by working from right to left. We can show that every element of  $G^*$  is equal to a product  $g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$  where  $g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$  is a normal form.

**3.4 Theorem (Normal Form Theorem):** Let  $G^* = \langle G, t_i ; \text{rel } G, t_i^{-1} a_i t_i = \phi_i(a_i), a_i \in A_i, i \in I \rangle$  be an H.N.N. extension. Then every element of  $G^*$  has a unique representation as a product  $g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$ , where  $g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$  is in a normal form.

**Proof:** See [8]

**3.5 Theorem (Higman, Neumann, Neumann):** Let  $G^* = \langle G, t_i ; \text{rel } G, t_i^{-1} a_i t_i = \phi_i(a_i), a_i \in A_i, i \in I \rangle$  be H.N.N. extension, then the group  $G$  is embedded in  $G^*$  by the map  $g \rightarrow g$ .

**3.6 Theorem (Britton's Lemma):** If  $g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n = 1$  in  $G^*$  where  $n \geq 1$ , then  $g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$  is not reduced.

Theorems 3.5 and 3.6 are equivalent to theorem 2.4 (proofs are given in [1] and [9]).

**3.7 Lemma:** Let  $G^* = \langle G, t_i ; \text{rel } G, t_i^{-1} a_i t_i = \phi_i(a_i), a_i \in A_i, i \in I \rangle$  be H.N.N. extension

and  $u = g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$ ,  $v = h_0 t_{i_1}^{\delta_1} \dots t_{i_m}^{\delta_m} h_m$  be reduced words such that  $u = v$  in  $G^*$ . Then  $m = n$  and  $\varepsilon_i = \delta_i$ , for  $i = 1, \dots, n$ .

**Proof:** Since  $u = v$  in  $G^*$ , then  $1 = g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n h_m^{-1} t^{-\delta_m} \dots t^{-\delta_1} h_0^{-1}$ .

Since  $u$  and  $v$  are reduced, the only way the indicated sequence can fail to be reduced is that when  $\varepsilon_n = \delta_m$  and  $g_n h_m^{-1}$  is in the appropriate sub-group  $A_i$  or  $B_i$ . Successive  $t$ -reductions will result in, each  $\varepsilon_i = \delta_i$  and  $m = n$ .

The normal form theorem 3.4 for H.N.N. extension allows us to assign a well-defined length to each element of these extensions.

### Proof

$$A1' \quad |1| = 0$$

$$A2 \quad |g| = |g^{-1}|, \quad g \in G^* \text{ is obvious as } g^{-1} \text{ will be reduced if } g \text{ is reduced.}$$

Let  $g, h, k \in G^*$

$$\text{Suppose } d(g, h), d(h, t) \geq s$$

Let  $g = x_1 t_1^{\varepsilon_1} x_1^{-1} \dots x_n t_n^{\varepsilon_n} x_n^{-1}$ ,  $|g| = n \geq 1$  and  $h = y_1 t_1^{\varepsilon_1} y_1^{-1} \dots y_m t_m^{\varepsilon_m} y_m^{-1}$ ,  $|h| = m \geq 1$  be in reduced forms

$$gh^{-1} = x_1 t_1^{\varepsilon_1} x_1^{-1} \dots x_n t_n^{\varepsilon_n} x_n^{-1} t^{-1} y_m^{-1} \dots y_1 t_1^{\varepsilon_1} y_1^{-1}$$

$$x_n^{-1} y_m = 1 \in G. \text{ Then } t_m^{-1} 1 t_m^{-1} = 1 \in G.$$

$$\text{Suppose } gh^{-1} = x_1 t_1^{\varepsilon_1} x_1^{-1} \dots x_{n-s} a_s y_{m-s}^{-1} \dots y_1^{-1}$$

$$\text{Let } k = z_1 t_1^{\varepsilon_1} z_1^{-1} \dots z_n t_n^{\varepsilon_n} z_n^{-1} \text{ and } gk^{-1} = gh^{-1} h g k^{-1}$$

$$hk^{-1} = y_1 t_1^{\varepsilon_1} y_1^{-1} \dots y_{n-s} b_s z_{u-s}^{-1} t_{m1}^{\varepsilon_{m-1}} z_{u-s} \dots z_1^{-1}$$

$$\text{Therefore } gh^{-1} = x_1 t_1^{\varepsilon_1} x_1^{-1} \dots x_{n-s} a_s y_{m-s}^{-1} \dots y_1^{-1} k_u^{-1} t_u^{\varepsilon_u} k_u \dots z_1^{-1}$$

As  $d(g, h)$  and  $(h, k) \geq s$ . Then

$$gh^{-1} = x_1 t_1^{\varepsilon_1} x_1^{-1} \dots a_{s+1} b_{s+1} z_{u-s} t_{n-1}^{\varepsilon_{n-1}} z_{u-s} \dots z_1^{-1}$$

$$\text{Therefore } |gh^{-1}| \leq n + u - 2s, \text{ i.e. } d(g, k) \geq s$$

So  $| \cdot |$  is a length function.

It is proved in [6], that  $d(g, h)$  is always an integer, i.e. C0 is satisfied in H.N.N extensions.

**3.10 Theorem:** Let  $G^* = \langle G, t_i; \text{rel } G, t_i^{-1} a_i t_i = \emptyset_i(a_i), a_i \in A_i, i \in I \rangle$  be H.N.N extension.

**3.8 Definition:** Let  $G^* = \langle G, t_i; \text{rel } G, t_i^{-1} a_i t_i = \emptyset_i(a_i), a_i \in A_i, i \in I \rangle$  be an H.N.N. extension. Define the length of an element  $g$  in  $G^*$  by:

$|g| = n$ , if  $g = g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$ ,  $n \geq 0$ , is in a reduced form, where  $\varepsilon_i = \pm 1$ .

The following Theorems generalize some results in [10] and [11].

**3.9 Theorem:** Let  $G^* = \langle G, t_i; \text{rel } G, t_i^{-1} a_i t_i = \emptyset_i(a_i), a_i \in A_i, i \in I \rangle$  be H.N.N. extension and  $|g| = n$ , if  $g = g_0 t_{i_1}^{\varepsilon_1} \dots t_{i_n}^{\varepsilon_n} g_n$ ,  $n \geq 0$ , be in a reduced form, where  $\varepsilon_i = \pm 1$ . Then  $| \cdot |$  is a length function on  $G^*$ .

Then the elements of  $N$  are the conjugates of the elements of the base  $G$ .

**Proof:** To show that if  $g \in N$ , then  $g = x a x^{-1}$ ,  $x \in G^*$  and  $a \in G$ .

Suppose that  $g \in N$  and  $g = x_1 t_1^{\epsilon_1} x_2 \dots x_{n-1} t_{n-1}^{\epsilon_{n-1}} x_n$  is reduced. i.e.  $|g| = n$

The result is trivial if  $n = 0$  or  $1$ .

Now if  $|g^2| \leq |g|$ , then

$$g^2 = x_1 t_1^{\epsilon_1} x_2 \dots x_{n-1} t_{n-1}^{\epsilon_{n-1}} x_n x_1 t_1^{\epsilon_1} x_2 \dots x_{n-1} t_{n-1}^{\epsilon_{n-1}} x_n,$$

Where,  $|x_s a_s x_{s+1}| \leq 2$ , if there is no further cancellations.

$$g = \underbrace{(x_1 t_1^{\epsilon_1} x_2 \dots x_{n-1} t_{n-1}^{\epsilon_{n-1}} x_n)}_{a_s} (x_1 t_1^{\epsilon_1} x_2 \dots x_{s-1} t_{s-1}^{\epsilon_{s-1}} x_s) (x_1 t_1^{\epsilon_1} x_2 \dots x_{s-1} t_{s-1}^{\epsilon_{s-1}} x_s)^{-1},$$

Where,

$$a_s = (x_1 t_1^{\epsilon_1} x_2 \dots x_{n-1} t_{n-1}^{\epsilon_{n-1}} x_n) (x_1 t_1^{\epsilon_1} x_2 \dots x_{s-1} t_{s-1}^{\epsilon_{s-1}} x_s)$$

Therefore

$$g = (x_1 t_1^{\epsilon_1} x_2 \dots x_{s-1} t_{s-1}^{\epsilon_{s-1}} x_s) a_s (x_1 t_1^{\epsilon_1} x_2 \dots x_{s-1} t_{s-1}^{\epsilon_{s-1}} x_s)^{-1}$$

Therefore  $g$  is a conjugate of an element  $a_s$  of  $G$ .

Conversely suppose  $g = (x_1 t_1^{\epsilon_1} x_2 \dots x_{s-1} t_{s-1}^{\epsilon_{s-1}} x_s) a_s (x_1 t_1^{\epsilon_1} x_2 \dots x_{s-1} t_{s-1}^{\epsilon_{s-1}} x_s)^{-1}$

If  $x_s a_s x_s^{-1} \in G$  then put  $x_s a_s x_s^{-1} = a_{s+1}$ . This means that  $a_s \in G$

If  $|a_{s+1}| = 0$ , then  $|a_{s+1}^2| = 0$ , so  $a_{s+1} \in G$ . If  $|a_{s+1}| = 1$  then  $a_{s+1}^2 = x_s a_s x_s^{-1}$  where  $a_s^2 \in G$   
Suppose  $x_s a_s x_s^{-1}$  is reduced, i.e.  $|a_{s+1}^2| = 2$

Therefore  $a_s \in G$ , which is a contradiction. So  $x_s a_s x_s^{-1}$  is reduced, i.e.  $|a_{s+1}| = |a_s|$

Therefore,  $a_{s+1} \in G$

Further, if  $x_{s-1} a_{s+1} x_{s-1}^{-1}$  is not reduced, then

$$g = (x_1 t_1^{\epsilon_1} x_2 \dots x_{r-1} t_{r-1}^{\epsilon_{r-1}} x_r) b_r (x_1 t_1^{\epsilon_1} x_2 \dots x_{r-1} t_{r-1}^{\epsilon_{r-1}} x_r)^{-1},$$

Where  $b \in G$  and  $x_r b x_r^{-1}$  is reduced

If  $b \in G$ , then  $|g| = 2r$ ,  $b^2 \in G$  and  $|g^2| = |(x_1 t_1^{\epsilon_1} x_2 \dots x_s) (x_1 t_1^{\epsilon_1} x_2 \dots x_s)^{-1}| \leq 2r$

So  $g \in N$ ,  $b \notin G$ ,  $x_r b$  and  $b x_r^{-1}$  are reduced resulting in  $|g| = 2r + 1$

Since  $|b^2| \leq 1$ , then  $|g^2| = |(x_1 t_1^{\epsilon_1} x_2 \dots x_s) b_s^2 (x_1 t_1^{\epsilon_1} x_2 \dots x_s)^{-1}| \leq 2r + 1 = |g|$

Therefore,  $g \in N$

In case if  $b \notin G$  and either  $x_r b x_r^{-1}$  is not reduced, then  $|g| = 2r$

Since  $b \in N$ , then  $|b^2| \leq |b|$ . So,  $b^2$  is not reduced.

Consider  $g^2 = (x_1 t_1^{\varepsilon_1} x_2 \dots x_s) b_s^2 (x_1 t_1^{\varepsilon_1} x_2 \dots x_s)^{-1}$  and suppose  $x_r b^2 x_r^{-1}$  is reduced, then:

Either  $b_r x_r^{-1}$  is not reduced or  $x_r b$  is not reduced.

Therefore  $x_r b^2 x_r^{-1}$  is not reduced ie  $|x_r b^2 x_r^{-1}| \leq 2$

Therefore  $|g^2| = 2r = |g|$ ,  $i \in g \in N$ .

**3.11 Theorem:** Let  $G^* = \langle G, t_i ; \text{rel } G, t_i^{-1} a_i t_i = \phi_i(a_i), a_i \in A_i, i \in I \rangle$  be H.N.N. extension. Then the elements of N are equivalent if and only if they are conjugates by the same elements of  $G^*$ . (if  $g \sim h$  in N then  $|gh^{-1}| \leq |g| = |h|$ )

**Proof** Let  $g = x_0 t_1^{\varepsilon_1} x_2 \dots x_{n-1} t_n^{\varepsilon_n} x_n$  and  $h = y_0 t_1^{\varepsilon_1} y_2 \dots y_{n-1} t_n^{\varepsilon_n} y_n$  be both reduced

- 1) The result is trivial if  $|g| = |h| = 0, 1$
- 2) If  $n > 1$

where  $\varepsilon_i = \pm 1$ .

By theorem 3.10,  $g = (x_0 t_1^{\varepsilon_1} \dots x_{n-1} t_n^{\varepsilon_n} x_n) a_s (x_0 t_1^{\varepsilon_1} \dots x_s)^{-1}$ , where  $a_s \in G$  and

$$h = (y_0 t_1^{\varepsilon_1} y_2 \dots y_s) b_s (y_0 t_1^{\varepsilon_1} \dots y_s)^{-1}, b_s \in G$$

$$gh^{-1} = (x_0 t_1^{\varepsilon_1} x_1 \dots x_{s-1}) (t_{s-1} a_s) (x_0 t_1^{\varepsilon_1} \dots x_s)^{-1} (y_0 t_1^{\varepsilon_1} y_1 \dots y_s) (b_s^{-1} y_s^{-1}) (y_0 t_1^{\varepsilon_1} y_1 \dots y_{s-1})^{-1}$$

Since  $|gh^{-1}| \leq n$ , then  $(x_0 t_1^{\varepsilon_1} x_1 \dots x_s)^{-1} (y_1 t_1^{\varepsilon_1} \dots y_s) = G$ , then

$$y_0 t_1^{\varepsilon_1} y_1 \dots y_s = (x_0 t_1^{\varepsilon_1} x_1 \dots x_s) a_s$$

Thus  $h = (x_0 t_1^{\varepsilon_1} x_1 \dots x_s) a_s b_s a_s^{-1} (x_0 t_1^{\varepsilon_1} x_1 \dots x_s)^{-1}$  where  $a_s b_s a_s^{-1} = a \in G$

Hence g, h are conjugate of  $a \in G$ .

Conversely suppose that  $g = (x_0 t_1^{\varepsilon_1} x_1 \dots x_r) a_s (x_0 t_1^{\varepsilon_1} x_1 \dots x_s)^{-1}$ , where  $a_r \in G$  and

$$h = (y_0 t_1^{\varepsilon_1} y_1 \dots y_r) b_r (y_0 t_1^{\varepsilon_1} \dots y_r)^{-1}, b_r \in G \text{ where } a \sim b$$

Similar argument show that  $x_r a_r x_r^{-1}$  is not reduced.

Since  $a \sim b$ , then either  $a_r, b_r \in G$  then  $a_r b_r^{-1} \in G$  and

$$|gh^{-1}| = |(x_0 t_1^{\varepsilon_1} x_2 \dots x_r) (x_0 t_1^{\varepsilon_1} x_2 \dots x_r)^{-1}| \leq 2r. \text{ So } g \sim h.$$

**3.12 Theorem:** Let  $G^* = \langle G, t_i ; \text{rel } G, t_i^{-1} a_i t_i = \phi_i(a_i), a_i \in A_i, i \in I \rangle$  be H.N.N. extension.

Then the elements of M are the conjugates of the elements of the associated subgroups.

**Proof:** To prove that  $g, h \in M \rightarrow gh = xax^{-1}$ , where  $x \in G$ .

Let  $g = x_0 t_1^{\varepsilon_1} x_1 \dots x_n, h = y_0 t_1 y_1 \dots y_n$  be reduced and suppose

$$|gh| + |hg| < 2|h| = |g|, \text{ Then } |g|, |h| \geq 1.$$

$n = 1$  is trivial.

Suppose  $|y_1 x_1| = 0$ , then  $gh = x_1 y_1 x_1 x_1^{-1} = \text{conjugate of } (y_1 x_1)$

Similarly if  $|y_1 x_1| = 0$ , then  $hg$  is conjugate of  $x_1 y_1$

So let  $n \geq 2$  and let

$$gh = (x_0 t_1^{\epsilon_1} x_2 \dots x_s) a_s (y_{s+1} \dots y_n), \quad (1)$$

So  $s \leq n$  and  $s$  is maximum.

Then (1) is reduced in which case,  $|gh| = 2n - 2s + 1$  or  $S_s \in G$  and  $x_{n-s} a_s y_{s+1}$  is reduced, in which case  $|gh| = 2n - 2s$ , where  $a_s = x_{n-s+1} \dots t_n^{\epsilon_1} x_n y_1 t_1^{\epsilon_1} y_1 \dots y_s$

Similarly

$$hg = y_0 t_1^{\epsilon_1} y_1 \dots y_{n-r} b_r x_{r+1} t_{r+2}^{\epsilon_{r+2}} \dots x_n \quad (2)$$

Then either (2) is reduced so  $|hg| = 2n - 2r + 1$  or  $b_r \in G$  and  $y_{n-r} b_r x_{r+1}$  is not reduced so

$|hg| = 2n - 2r$ , Where  $b_r = y_{m-r+1} t_{m-r+1}^{\epsilon_i} \dots y_1 x_1 t_1^{\epsilon_1} y_1 \dots x_r$ , Then  $2n - 2s + 1 + 2n - 2r + 1 < 2n$

$$2n - 2r - 2s + 2 < 0$$

$r + s > n + 1$ , Therefore,  $r > n - s + 1$  and  $s > n - r + 1$

Then  $b_{n-s+1} \in G$ . Since  $a_{s-1} \in G$ , then  $b_{n-s+1} a_{s-1} \in G$  or  $gh$  is a conjugate of an element in  $G$ .

#### 4. CONCLUSION

The conclusion is that in any HNN group, the elements of  $N$  are conjugates of the base group  $G$  and they are conjugate of each other by the same elements. However the elements of  $M$  are the conjugates of the associated groups. Moreover, the set  $M$  is a subset of  $N$ .

#### COMPETING INTERESTS

Author has declared that no competing interests exist.

#### REFERENCES

1. Lyndon RC. Length functions in groups, Math. Scand. 1963;12:209-234.
2. Chiswell IM. Abstract length function in groups, Math. Proc. Camb. Phil. Soc. 1976;80:451-463.
3. Chiswell IM. Length function and free products with Amalgamation of Groups, Math. Proc. Camb. Phil. Soc. 1981;(3): 42-58.
4. Hoare AHM. An Embedding for groups with Length Function. MatheMatika. 1979;26:99-102.
5. Hoare AHM. On length functions and nielson methods in free groups. J. London Mathematical Society. 1976;14(2): 188-192.
6. Wlikens DL. On non-archimedian length in groups. Mathematika. 1976;23: 57-61.
7. Khanfar MMI. Combinatorial properties of groups with length function Ph.D. Thesis, University of Birmingham. U.K; 1978.
8. Lyndon RC, Schupp PE. Combinatorial group theory, Springer-Verlag, Berlin, Heidelberg, New York; 1977.
9. Nesayef FH. Groups generated by elements of length zero and one, Ph.D Thesis, University of Birmingham, UK; 1983.

10. Nesayef FH; Length functions on free products with amalgamation. International Journal of Recent Scientific Research. 2013;4(11):1697-1700.
11. Nesayef FH. Presentation of groups generated by elements of length zero and one, International Journal of Mathematics and Computer Applications Research. Volume 2014;4(6):45-52.

© 2017 Nesayef; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

*Peer-review history:*

*The peer review history for this paper can be accessed here:  
<http://sciencedomain.org/review-history/19210>*